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Q. Provide an explanation of why Hydro is unable to complete an update of the 1 

annual average hydraulic production for the year ended 2005 using the 2 

spreadsheet methodology, and as a consequence is not able to reconcile the 3 

differences as requested in IC-130 NLH. 4 

 5 

 6 

A. Hydro did not update the annual average hydraulic production estimate to 7 

the end of 2005 using the former spreadsheet method, as use of this 8 

method has been discontinued per the direction of Board Order No. P.U. 14 9 

(2004). 10 


